5. fx) =x* + 4x* + x - 6.

(@) Use the factor theorem to show that (x +2) is a factor of f(x).

()
(b) Factorise f(x) completely.
)
(c) Write down all the solutions to the equation
X +4x* +x-6=0.
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6. f(x)=x"+5x"+ax+5b,
where a and b are constants.

The remainder when f(x) is divided by (x — 2) is equal to the remainder when f(x) is
divided by (x + 1).

(a) Find the value of a.
)
Given that (x + 3) is a factor of f(x),

(b) find the value of b.
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3. f(x) =2x* +ax* +bx -6

where a and b are constants.
When f(x) is divided by (2x — 1) the remainder is —5.
When f(x) is divided by (x + 2) there is no remainder.

(a) Find the value of @ and the value of b.

(b) Factorise f(x) completely.
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[ fx)=x*+x+2x*+ax+b
where a and b are constants.
When f(x) is divided by (x — 1), the remainder is 7.
(a) Show thata + b= 3.
2)
When f(x) is divided by (x + 2), the remainder is —8.
(b) Find the value of @ and the value of b.
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N f(x)=x"+ax’ +bx+3, where g and b are constants.

Given that when f(x) is divided by (x+2) the remainder is 7,

(a) show that 2a—-b=6
(2)

Given also that when f(x) is divided by (x—1) the remainder is 4,

(b) find the value of a and the value of b.
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f(x) = 2x* + 3x? — 29x — 60.
(a) Find the remainder when f(x) is divided by (x + 2).

@)
(b) Use the factor theorem to show that (x + 3) is a factor of f(x)

(0]
(c) Factorise f(x) completely.
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2. f(x)=3x" =5x> —16x+12.
(a) Find the remainder when f(x) is divided by (x —2).
(2)
Given that (x + 2) is a factor of f(x),
(b) factorise f(x) completely.
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1. f(x)=2x"-3x*-39x+20

(a) Use the factor theorem to show that (x + 4) is a factor of f(x).

(b) Factorise f(x) completely.
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f(x)=(3x-2)(x-k) -8

where k is a constant.

(a) Write down the value of f(k).

When f(x) is divided by (x - 2) the remainder is 4

(b) Find the value of k.

(c) Factorise f(x) completely.
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2. f(x) =3x" =5x* —58x+40
(a) Find the remainder when f(x) is divided by (x—3).
@
Given that (x—35) is a factor of f(x),
(b) find all the solutions of f(x)=0.
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1. £(x)= 25" —T%* —5x+4
(a) Find the remainder when f(x) is divided by (x—1).
(2)
(b) Use the factor theorem to show that (x+1) is a factor of f(x).
0))
(c) Factorise f(x) completely.
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4. fx) = 2% — Tx% — 10x + 24
(a) Use the factor theorem to show that (x + 2) is a factor of f(x).
(2)
(b) Factorise f(x) completely. :
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2. f(x)=ax’ +bx’ —4x—3, where a and b are constants.
Given that (x — 1) is a factor of f(x),

(a) show that

a+ b=17
(2)
Given also that, when f(x) 1s divided by (x + 2), the remainder is 9,
(b) find the value of a and the value of b, showing each step in your working.
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fix)=2-5x*+ax+ 18

where a 1s a constant.
Given that (x — 3) is a factor of f(x),

(a) show thata=-9

(b) factorise f(x) completely.

Given that

g(y) =2(3¥)-5(3%)-9(3") + 18

)

(4)

(c) find the values of y that satisfy g(y) = 0, giving your answers to 2 decimal places

where appropriate.

e 3)

O\) “F‘ (:JC*Z) W e 1r\ d?c:(‘“ -p(‘.'s‘) =
00 . et Win L ;
: O = sS4 — *—:f—i—?c.:&:_\(g _________

— <Y 14— Y = X
i = R
e B e
LR 2 e e

7

ac—-ii [7f_xx—qsc+18
L D ™ L

L

— a—\f‘
e =
3:__1' e RN <
e se o, K LU
By i e
AIr—
VL

D25 x—& = (o =2 Mo %—2)

—-‘;(Jc\,"—- (DC“'B\(Z)C‘\"Q—-\(ZDC 3\

Leave :
blank

O



CZ MAY 2013

3e) ah)= 2 (37 )5 ) a5\ ¥

ORI
= .
el e a0 CTae — R | &
-P(:m) = (ﬁa-:f')c:xa—z) ('2:::_—— 3)

@) = (_JC‘—-Z.] (I’.«-l? CZ’::.--'J‘)
S"c:‘\.-»'h::b’\\s' (i Wi, ARs <Be Z/ > = ——2/ ox = _'}z—-:
bu"‘;— fzﬁa — DO<C

o iy
?":_ = 3 P lo%g S |0c53
HanEs tian®
N e
1@53
22 - =2 ‘63 T 103("2-)
we leaG®l
loa 3 s
Sa\uﬁ'{h.c-ﬂ./
cot hans
Gleameise o
o= demleST - ialm (90MIRE
oA
S\o\u-‘.—u:n_i' oe «j::\ e d Y= » X5 CZO'pj




